LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

M cdga
il 241 ]

Mabiially culliia) dxwlis) saxg)l Jac Gl o) calad)

) Jail] & ol & paiiad] pic oabd] Caall & Al Loyl zeliad] & zaliad) 2850

plali (e paiiadl jac sald) Cauall alge Ly,

bl J g lou) dall) iyl dald) de N a1l

i) Jatl] (b ilpanly ) Baladly paiiall e (gabd] Ciall oo colilad] (o aysall

bl Gl ylxiel ol Z3gas 5



https://almanahj.com/ae/pages/search?teacher_name=مصطفى أسامة علام
https://almanahj.com/ae/14math3
https://almanahj.com/ae/14math
https://almanahj.com/ae/14
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade14uae
https://www.facebook.com/grade14uae
http://bit.ly/2TwvmBf
https://t.me/uae14grade_bot
https://bit.ly/3d37XjG
https://bit.ly/3lSsdIt
https://bit.ly/3lQ5kFG
https://bit.ly/3ro2lFw
https://almanahj.com/ae/id=2425
https://almanahj.com/ae/id=2588
https://almanahj.com/ae/id=4223
https://almanahj.com/ae/id=4907
https://almanahj.com/ae/id=5217
http://www.tcpdf.org

https://t.me/alllaaam82

(=] =]
premialanla e @E%
(O

0502509447

LD Lot oo CLL, Cb' o

* XN ]




[=] https://t.me/alllaaam82

[

POMl Sequences As Function

F . (=]
<Jualgll Riuof> W (pilae /i yal) Joub pdite 11 il 3 g %@
0502509447 =~ "y [

Jlgus ol 9-1 e.&.&'ﬁl‘).&';.c éé\-‘ﬂ‘ Jos 4359

Al S 9l Bonidl Ll day -2 Adasel Jl9dl Al ldlial | oy, —1 [EEPNE U EWIRWRTIIRRT gt

s3c e (Soinis dsgiin dlite ddliiall oS5 A8g JX> e dlizall 3 sac JSs .re20 hrai ol cusisdy slacHl o desane Lo ddliioll
Jg‘}”_\:vJ|(,.r.).g.zﬂlP.’I..ggc{0,1,2,3,...}kjia¢ag'lgi>lg).alud'%,ﬂ|93.;5'.@32a.gu.ioQgﬁgic{-z,0,2,4,6}&:)3.\&“,4)5.\20

.|35.591aZ%lewl‘}:M'ﬂwtalq@mw

wyidiall Gydll ol il dogill i e Sy - Srludl sl J] A0 dagd 35LS] JS> o 3> JS samits edasluwnd] allizell §

S yiindl Al ol A Aol 030 e 33 Silaall sl § Sxiad sué Sl i SIS 0 3> JS 34y i rigl] A lizall 3

Jeall b &yiduall 35allg dghs @13 dgglundl dgllizall Asls osiinn > e siiuny dolusdl ddlizall 3932 Gledl St

s siduall dnaaidl gb panBl DI Golewsls Lol 598 drwsigh ddliiall s9ax) Gled] Juiod]

Determine whether each sequence is arithmetic. Write yes or no. 3 9| Pg: o,a.?Sl .&Hl...o ‘Jg' oo :L:JL'LZA JS <asls |S! b ss>

8,-2,-12,-22, ... 0.6,0.9,1.2,1.8, ...

Ely adtzell Jio of ulus e JSI AW dsy 31 s9sdl 3>

Find the next four terms of each arithmetic sequence. Then graph the

6,18, 30, ... -19, -11, -3, ...

4

A

=V

A

lad 4
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FINANCIAL LITERACY Khadija is saving her money to

buy a car. She has AED 250, and she plans to save AED 75 per loloc cso f_&uﬂm & AED 75,1533 Lhag AED 250

week from her job.

a. How much will Khadija have saved after 8 weeks? AED 850

b. If the car costs AED 2000, how long will it take her to save

enough money at this rate? 24 wk

i g 8ylews elaid ldlgal (o dyas 505 Aol 49 20l

Sulwl 8 amy G531 48 dyad (eSiw pS .2

Gt 303l (o 0S5 AED 2000 CalS5 3yledl CSLS 13].b

SJamall lig SIS Jlo 53

Determine whether each sequence is geometric. Write yes or no.

-8,-5,-1,4, ...

4,12, 36,108, ...

3 ol @25 S| dwsin b lao ddliie JS ColS 13] Lo 33>

8,12,18, 27, ...

Ll adtzell Jio of dwsin ddlite JSI AW DU 3932 3>

Find the next three terms of each geometric sequence. Then graph the sequence.

9,-3,1,-1/3, ...

A

A

tad 4

tad 4

Determine whether each sequence is arithmetic, geometric, or neither. Explain your reasoning.

5,1,7,3,9, ...

200, -100, 50, -25, ... 12, 16,

williiiaol el Lagio Gl Conadd al s sin pl dgglun> Sl Los ddlite JS ColS 13] Lo 3>

20, 24, ...

w
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Sequences, Series, and Sigma Notation

Lozmiw 3019 el bl | 9-2

podill yde galadl Jos 4359

W odlad il g gazma ol Jeiad § Loz 3yl aliiel =2 SLILEL] (o 2alises 1951 e SLaSTwl —1 [EEENEH U PWRRURRIRRT gt
exy @Bl sy B Wil Al iy smily (Jo¥l ALl 39l usdi Lg) il Sllizall so Slgi 3 3ac 32595

& an ol 3ol dnypenll dsepall sl irgudes lais s xies 5351 Siloglae 1355 g of oill sl ditgo pds

ndls 3)9..4

CLIlall 3 gaa lau)

St JS (9 Al datal 381 agaiadl a2
Example 1a. 2,7,12,17, ....

Example 1b. 2,5,10,17, ....

Example 1c. of the sequence given by a, = 2n( -1)".

1A. 32,16,8,4, ...

1B. 1,2,4,7,11,16, 22, ...

1C. of the sequence given by a, = n3 - 10.
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05« Jo B Adall 39151 (yo 28T ol 13519 13 51, d85mall Clalizall g5 Sl ddlizall Ciysws Lol oSy
dpall puols ddliiall 3 Godll 3ol 825 il dseaall (panass Aisluadl 393501 5 alsiniaoly AU 39l s
S @B ol duiacdl dzenll ol dyylsSl

S 48 el Agdutal)

122 Gkl a1 =2 § 0= -1+ 2 -1 IS 13 b il (§ ol sl 2 2 Lo

o o el JSI gl a2

2A. a1=3,a,=(-2)an-1,n22 2B. a1=8, an=2a,-1-7,n22
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oS 13ls dyles aslgisll alizall ey ol oxSag @Il Jios aladl] asasd 3539 332 (30 sy S3all 18 00
Chuogiad w8 oS5 o) 1315 da U5 il ddlitall Chuogicd wisms 3ac (o Seall CiiS Cary dylgs ddllizal
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Lae ) g gy S e llisal)

i 0] o i e b0 Gl JS ilS 13] W0 2 4 Lo

Example 4a. a,=-3n+12 a, ¢

Example 4b. a; = 36, an=-%an-1,n22 —36

[ }a
(-1)"en -0.251— . l
4n+1

Example 4c. an =

‘—0.|25
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dggiiall duduioll dgleid ol dsgiio Auadaasiall 59S5 Ol Sy ddlizallSy ddlitall 395> gea> goao b Aluduiall

A lgisUl ddliiall 392> &eo> g9axo S dSlgidUl dleadiioll Loiy dagiioll ddliioll 391> &eo> g9axo B

1+3+5+7+9
1+3+5+7+9+..|135,729,.

izl goazall sbul $Sasg .Sn o a] foiss ol (352l gganally dlualusioll § Jo¥ duigill 39ax)l ggazmo oy
932l ells ggame sl o cdoill axdl J] Fguos 3> JS Clums dlasluio $3 Goill

Al i g el

An = (-2)" + 3 ul gl ol eyl gl 32 52 JUio

. 4 )
Find S; of an = 75 .5b Jle

5A. Find the sixth partial sum of a; =8, a, =0.5( a,-1), n 2 2.

n
5B. Find the seventh partial sum of a, =3 (1—10) .
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S gsaxo lg) pud dsileiVl duslusioll Ol 08185 288 (395l ¢po e s3e L) pud dlgisUl Abaaalaaciall ol Les

651 ddgall dusluasiall duannilly oz limg

o oy 31 25 o galonel! e bl Al LAY e
1, 4, 7,10, ..

1, 5,12, 22, .. 1+4+7+10 + ..

allizall i85 o cang oS 33300 poane dilgidl] dluuiall GoSuls . gaolns lo) dilgisll Coiluluiall yaszs o)
inasgall algidll dlubuiall § diiall geolnall dgllizo of 9 aif st .0 oo dlusluszall elliy daisall dgilgisUl
% gi 0.1 900 0 (EPV1] ols:i

A% Llze

R dataze
0.1, 0.01, 0.001, ...

o1 a1 25 ol palonedl e
01+ 0.01+ 0.001 + ...

0.1, 0.1, 0.1, ...

pladiul d392all dluabuiall o Bosmall (pos .2 Loz eIl Glisall Byl pladiicoly Codbualeszall js055 BIE o2y
Loz 3030l o goanall o pladiwls lgic secmill oSag Syl 1in

Loviass j00) (sl B @ grgried} “
XD e P
— ¥ Kk ssas) gaeme) 50 1, Ao A3 A g &line gl O ok
T EPIL RN
k n=
Ya,=a,+a,+a3+ ... +a, aook JIn=1¢g0 gsendll
n=1 L i

goomel) Slaad) asdl a1 5 goemell golall asll L K5 igsemedl S250 o N G

3

ho

1315 .gsazxall clgsil g8ga JI (Solall sl sedus dgllizall 393> meani cay @hso Il 3ol 13n 3 el axl spey
igSlgid dluakuio Jiog Losnges 3osdl o6 o0 JS2JU (solsll sl Lhacl

o0
Zan=a1+a2+a3+...

n=1
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5
Example 6a. z (4n —3)
n=1

ool W00 (2 Couo

7
Example 6b. z 6n2_ 3
n=3

o 7
Example 6c. z -
10™
n=1

10
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Arithmetic Sequences and Serie

(3 YouTube EWERIERYSN

doluat! eMudwdd g wldld ! 9-3

podill yde galadl Jos 4359

L) Sl pealime slimy) —2

Al Sldbalf plasil -1 sadat) (g uall 13 B

Ay = a1+ (n-1)d dglus idize a, Jsdl sl

gl blusi puol dulus ddliie) Gemsliie s 533> Sl ou 839290l 39121 Lle Gl

n

a; +a
so=n(Z) s

2

KYYed || §9oxn Je slhyg a.gLuo atll.'ilo 394> £9ax0 B a.g..glw.'a." dleduiolly .o aéjl.'v.'lo 394> Rox> dic oS dludiiall

[2a; + (n —

Sh o die JE239 « Gl ggaznall ool Jo3l digdl
Dd] Sy

Find the indicated term of each arithmetic sequence.

ai=14, d=9, n=11

gl ddlize JSU adl sLéall sl 3>
ais for 12,25, 38, ...

Werite an equation for the nth term of each arithmetic sequence.

13,19, 25, ...

gl dyllize JSU Gl sl Aslee s
as=-12, d=-4

Find the arithmetic means in each sequence.

6,2?2,2?2,2, 42

dgllize JS § dglul blusg¥l 1>
2,2,8

[ |

'4/ ?I

11
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Find the sum of each arithmetic series. Aol dldauin JS Eoox0 A>
4+8+12+...+200 the first 50 natural numbers
ai=12, a,=188, d=4 an=145, d=5, n=21
Find the first three terms of each arithmetic series. Aol dadwio JSI Jo¥l SN sgax)l 2>
a1=8, an=100, S,=1296 n=18, a,=112, S,=1098

12
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pladiul Gosb oe slaisl dluluiall ggano &S oSy

.
flk il gl sgas> asg
PTHARES e sl

12
_ MULTIPLE CHOICE Find S (3k + 9).
k=1

A 45 C 342

B 78 D 410

Find the sum of each arithmetic series. Ayl ddisio JS goone 3>
16 12

(2k + 6) (—3k+2)
- 2

k=5

13
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Geometric Sequences and Series

sl Baalee ool edLluilly olllal| 9-4 pudill ydie galadl Jos A3y

Ao S| palima sly| —2 A SLILal) al il —1 salai] G (papal) 120 A

Ay = Ay T dpwsin i) Ay odll axl

s ity blusgl el dpawssin dllize) Gamalite sué 3> Sl ow 839290)l 3932l le Gl

Sga=dl 900 Je Slhsg aﬂ.w.u.b a.bll.lln 393> ggox0 B :lg,wé.‘g." dludiiallg Lo 3.!,".22@ 393> Ro> e 9SS dladiall

a; —a,; r" a,—a,r S o die yi=dy « B3l goamall gl Jo3l dsgill
Sp=—2—tT yz1, Sp=———— r#1
1—7r 1—-r
REGULARITY Ahmed is making a family tree for his 0o 332l 25 (o Se 159 032 dlile dyzds sonl sy elﬁﬁﬂ
grandfather. He was .able t(T trace many genera%tions. If . wslly oo 1285 ilile oo sl JL?I 10 zuss sasi glbzol 1319 . L3I
Ahmed could trace his family back 10 generations, starting < - . L. .
with his parents how many ancestors would there be? 2046 Spa=ul 0o OSeiow (il Ol sac 9
Write an equation for the nth term of each geometric sequence. Ao i ddlie JSU ol axl) dslee S|
18,6, 2, ... -4,16,-64, ...
3

Qg =5, =7 a=-96, r=-8

14
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Find the geometric means of each sequence.

Adlize JS) dewsigh bluwodl s>

.375930..9‘%9“0@9»

Find two geometric means between 3 and 375.

GAMES Shaima arranges some rows of dominoes so that
after she knocks over the first one, each domino knocks
over two more dominoes when it falls. If there are ten rows,
how many dominoes does Shaima use? 1023

o3ul Losie Cugms gisagall gh Bgius phmy closd i =Yl
i besic ussl guizhd Lo dzhd JS bhilwd dgie dzhs Jol
lgosixiusics il gizog )l gl sac 0K Wgiuo e Iin HIS 13ls

Selosds

Find the sum of each geometric series.

6 8 1 k=1
D 3w 2.4(3)
k=1 k=1
Find a; for each geometric series described. 99090 duwdid dludinio JSJ ay 3>
5 1
Sn=85ﬁ, r=4, n==6 S,=1020, a,=4, T=E
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nfinite Geometric Series

AL B! Al 95 piill ydie gslall Joc A8y

.)3-4-«5549.44&3-3)3-\." %J—A’&—IJ‘)}.WSJ‘&.}US—Z @L@W| @W! D uwdwdd | @A\:&A ab;_»j -1

#\ A g ) 3:\6‘_,3

gy 385 Alaarkesin gonzn o) Ul dabuaiall Lo Blhyg 393l o uazy 3 s5c Al drwsigl Aluseiall 5a) 35y
Agacls Alubuio lgde Sl goazo L) pudd Il Aasuaioll ol 5330 dagd 0 wisily lgesano 0¥ clids
aelodly o, lind) o dawlusgd P 9geted| b
Gueld dluluie L
Sl Aed e faemddl Cam ¥ ) a5l Eed (e poened) um )
=1 ) <t Zed!
N 5+25+125 + .. 5
Lalily Jte T éo+ + Jte
16 ' 8 ' 4
L
18 P2 hd s X . ¢
16 8 5
‘%1.4 i’
1.2 6
— 10 + bt
0.8 4
o 06 ?., 3
0.2 1
[
0 1234567897% 0 1234567897%
| o

Ll 5 A ) cdladadal)

i b (0] e i i L0 S et it JS S 13] b0 92

Example 1a. 54 +36 +24 + ...

Example 1b. 8 +12+18 + ...

T1A. 2+3+45+...

1B. 100 +50 + 25 + ...
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dew digll Sdludesioll dial 2eoleoll Cyiiiw 13gs9 . 8305 2o stuall (o 35 Bguw T dogd G (7| < 1 (oS losic

a; fai—as(0) |

. c .
a1 t@ gl

Aol W) dwangd) e Malucig)) £ gema pwlaw ¥ @ agaed!
4
'S_‘i—r

LY dprin Adidia @ gana

et i (0 e ki iR et e ebniod JS S 131 16 90 229 ) uilRei icbubnd JS 00 3D

g el . 6+9+135+20.25+ ...
Example 2a. S+ +—+ .. Example 2b. 6 + 9 +13.5 + 20.25

2A. 4-2+1-05+ ... 2B. 16 +20+ 25 + ...

17
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Ailgsd dluluioll ol sl T oy G99

Lo ) (8 Al D) Alududial)
it i (0 e ki iR et e Gebniod JS S 131 06 90 229 ) uilRei iclubiied JS 000 32

i 1
Example 3. Find Z 18 (E)
k=1

k-1

3A. Find z 12 (%)
k=1

18
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Example 4. 0.63

(Sl gD 53000 (F 5199 Sy il JS i

4A. 0.21

15. 0.642

19
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SIS Jlgs e dyandl —2 Lol seiulg ol oldbiak | e b pasll —1 salai] G (papal) 120 A

bt o Moy Juasll S 553 o 3] p38l5 3l Ly Gpalls GEW 59Sas i 553 o dSLall zal3ss Losie Juusll S il g3

ols dgllize Juusll s dlile By gaip a3l omg i 35l g s 9%y Wiy uaduall o dSLall

o 11]2|3|4(5]|6
A 11112(3(5(8

iiligusd dllize duolal dlizell oin e Bl -couisludl (sl gsame (Soluss el &3 § 39250 3> JS of ki

s JS 34535 oy el LSl Agllizall 3 g Sl Elizall e Ilo 5ligsed dellite s Aszashl] AlieYl (po 3942l (3 A2l
Ay ladl 39351 o 3iST gl A>lg 3> P|A’aholg

Jio i I3 8390 3 3, Ao suall itaanl 25 ey pusl frall o Sizall 3 531 i lgio sinianl Ll faaall a5
Pl_g.w > JS OI L T} |.3.b9 ,&.5.;.@ a.ibm 9| ag.)l)ﬁ' a.ibm Ay=Au2Fa,q :uﬁﬁUHé a._n'JL'i.lo -y ,_,JJI aabmjl AsS .a,=3n+1

el of a5y, dsall § Jo3 sl Lle Juoms o s disladl 3935l o 5381 of anlg 3> pladiuly sa3ans

oldboel doeal) /iy, Sl fmad) k¥ @ ggasd]
il g0l sadies ap=a,_1+d duluusd) ddlogd)
aS,idid) dcwcd) ga F s @p=F+ ap _ 1 Acwaigl) adlagd)
dglaal) ddliial) doaigl) Adlital)
(Rasall) Sl ) dsa | g = +H(n -1 ) d an= ap r!

(Aiaall) 4y ) Silf dapuaal) | @n =n-1 +d ,a1=-- ,n22 |g,=rean; ,a1=-—- ,n>2

Lplad /Ay ) S5 dipa aladi)
g oty JS (108 G| 29 ad)
1. ay=16,an+1=an +4 4. a1=-4,an+1=2an-6

20
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e ddlizo s Ll dsyl S deaeall Joidis 3o AUl 395l slnsd baill 035 o5 .Jo¥l anl Yol 345 1y 1585 dseses 3l
- e‘-u - - - < PJSPJ ry <

Jo¥l sl dogs
Lplad /Ay ) S5 dipa ladia) - -
e o SETIP S S )
Example 2a. 2,10, 18, 26, 34, ... Example 2b. 16, 56, 196, 686, 2401, ...
Example 2¢c. a;=108 andr =3 2C. az3=16andr=4
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Soyll 31351 389 AUl (o a5 Losie dsloisd] dUadl digaso %é AED 15,000 50U (s oS dudll] & gadl .3 JUs
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33. f(x) =12x +8,x0=4 38. f(x) =4x2+ 5, x0 =-2

41.f(x)=x2+2x+3,x0=% 39. f(x)=2x2-5x+1,x =6
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The Binomial Theorem
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(a + b)0 = 12°5°
(a+b)l= 1a'6° + 12°01
(a + b)2= 12260 + 2a1b! + 122
(a + b)3 = 1236° + 34220 + 34162 + 123
(a + b)* = 1a%0° + 44%p* + 64a°b> + 440> + 1a°0*
(a + b)5 = 12°b° + 5a*b! + 104302 + 104203 + Balb* + 1a°5°
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1 4 6 4 1
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1 6 15 20 15 6 1
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Use Pascal’s triangle to expand each binomial. Wi Ol3 JS eleSad) JBwly Edlia padiiwl
1A. (c+d)°

(11 + £)8 maawssd JM> o rsibigall 5o (30 2 9 sibgall s (30 6 dBsi Jlaisl 3> 1 Jlie

20. (3a-4b)s

o9l O3 gSho painiwld dyglucio Cuiny ol Moy Blsol 335 ol duoyd Ciils 13] @l yodl ods .7
sliedl § diloiall @Sledll @i 9 Al Llabl Jlaz] o Sl pueiy 3335 of Jlaisl syaxil
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Use the Binomial Theorem to expand each binomial. W3 Ol3 JS EleSad G il Sl dy ks padiwl

16. (c-d)

19. (2a+4b)*

Find the indicated term of each expression.

23. third term of (x + 2z)7

o5 JSJ adl Liall sl a>

26. sixth term of (4x + 5y)°
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roof by Mathematical Induction
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Use mathematical induction to prove that each conjecture is true for all positive integers n.

2(n + 1)°
Example 1. Prove that 13 + 23 + 33 + .- + 03 = n (”4 ) '
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Use mathematical induction to prove that each conjecture is true for all positive integers n.

Practice

+1D2n+ 1
1. Prove that 12+ 22+ 324+ ... + 2 = (e )(2n ).

6
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Use mathematical induction to prove that each conjecture is true for all positive integers .

13.3+7+11++@n—1)=2n"+n
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Use mathematical induction to prove that each conjecture is true for all positive integers .

8 e dowuiill Juis 9" — 1 .18
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Use mathematical induction to prove that each conjecture is true for all positive integers .

11 e dowdl Jais 12" + 10 .19
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Use mathematical induction to prove that each conjecture is true for all positive integers n.

6 Ll dawidll Juis 7+ 5 .26

33




<Jualgll Riuof> W (pilae /i yal) Joub
0502509447

https://t.me/mathbook11ADV

Ok AD) https://t.me/alllaaam82
EE 0 HOM e
[

Al> e Blee o9 3bdn Jlio syl JS o Jgaol By Iling . ousl sl chiiiiaodl plsixiwl Sllel s e dinsdl 5S0s

b Ll Lgad oS5 dixmo

Find a counterexample to disprove each statement.

Byl JS g ad fabiae Yiko aa

4 e dowdll Jiy 3"+ 1 .6

A e dowaidl Jais 2™ + 3" 7
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